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3991 / Instructions

1. U U5 1 T B Y TR, AT AU We YRaest o of u. . Se-—use ol v @ oY ghifveaa &% e
~ T3 IR 11T ST, ST, IS Bl hH AT I 2 |

— w GRae & wll yss S § v ¥ ofre i geat o A we gfew

fenelt oft Ferericy/lie o wiraet &, sreredl ot we qREeT ofiT o110, A1, SO0 1 Iaw d T G SITASTRIR &) AIa &) e 2 et | e
AT BN % Ui e S 3w ey o fned o 3y et ot Rt = fra s gaes R ererelt saEry e

Before attempting the question paper, kindly check your Question Booklet(QB) and O.M.R. Answer Sheet and ensure that:

- Serial number of Question Booklet(QB) and OMR Answer Sheet is same. ¥

- All pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for replacement of Question
Booklet(QB) and OMR Answer Sheet. No claim/objection in this regard will be entertained after five minutes of start of examination,
candidate will be liable for the same.

2. SiOHaTT SO-Use % WS fag o e Pt wd
Read all instructions on the reverse of OMR Answer Sheet.
3. SUHIIR ST U Hae e ale @ige U 1 gAY | Bud, SHTHa Set-Usih ¥ rueT W 49T ofi ot sty 9E & § ¥
On OMR Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information correctly in OMR Answer Sh
4. | Ul % T oih ¢ | i RRe we W Torg e U erfires ST sifthd R W ¥ 9 SR T ST W SR :
All questions carry equal marks. If more than one response is marked for a question, it would be treated as wrong answer.
5. wel ye # Ui fomea/ € wed 9 faded i A, B, C &t D Suge Se 9 weita ¥ ofi gieat fresea/ien ‘B ‘srgata wew @
LELECES
Each question has five options/circles. First four options/circles A, B, C and D are related to appropriate answer and fifth option/circle
‘E’ is related to ‘Question not attempted’.
| 6. wE IAX 39 % T ot bl o gL Y. Te-use 0w ug dear % vewt = famea A, B, C 1 D & & daw us Rreseu e & e ate
g U F qE B afy eradt et weT @ wat 8 3 Aen & o ued Rrebea/ie ‘B’ @1 e S 8 '
To indicate the correct answer, the candidate has to fill in only one option/circle A, B, C or D with blue ball point pen for respective
" question number on the OMR Answer Sheet. If the candidate does not want to answer any question then the fifth option/circle ‘E’
- should be darkened. ‘
7. aft uiw Raeberd § & wg ofr faae/ire e TE fFa A A wST @ 1/390 s e R s
1/3 part of the marks will be deducted for the questions, if none of the option/circle options are darkened.
8. Wl e I T W ek HT 1/4 W BT S | e ST Y Aedd SHfE I AT (6 WA % UH ¥ o1 IO Y B
1/4 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer means an incorrect answer
or more than one answers for any question).
9. 10 whyerer ¥ arftres woAt & fey oft Rrepew/ Ml a1 arsrelf 2oy e <Y e e o ©F witen % g st it @ i smom
Ifa candidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for the exam.
10. srvreli &1 Wl wet % forg o & & w Ferpea i w ¥ o 8 we giifvad 1 % fg 10 fire sl fg s
] Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.
11, 3R ve % R o ofish wRemtor F qgor ar qeaTere Uty Bt e o wert @ srere /Tt ¥, @ sttt wenter ay sife wE s
i If there is any sort of ambiguity / mistake either of printing or factual in nature in Hindi or English version of questions, then the :
English Version will be treated as final. . ;
12, wften 2t A Hiarda /sy R an B o et fore a1 gudn e aff ¥ aft Redt arelt 3w O @ wlveie gref wd o '
4t sueh faes FraamE s siam ® s
Use of Mobile Phone / Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited. If any such
prohibited material is found with any candidate, strict action will be taken against him/her as per rules.
: AT g arvefl e Rt U TTT ST & A1 arfud e ST 5T I S § 97 S6kh U g STtga an) i sl o wus faars
T N oS 9. Tt B T S 9% oy andwtie aher sfufEe, 2022 ofi et sl 2023, (9 ¥ srfaa wree @ e
HAUT) & e Gerant A % for Seear 2 e 10 o & sl sram aur ¥ 10 S0 a% % Ja B wEaE ¥ 3y 6 6 afrs @
T Tlersil & Tl ww & Rrafia o fea o e )
Warning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession, F.L.R will
be lodged against him/her in the Police Station and he/she would be liable to be prosecuted under State Public Examination (Measures for
Preventions of Unfair Means in Recruitment) Act. 2022 and Amendment Act 2023, The act has provisions of imprisonment of 10 years to
ife and fine up to ¥ 10 crore. Board may.also debar him/her permanently from all future examinations conducted by the Board.
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1  Case control study estimates:
(A) Only odd’s ratio Y-o: - (B) 0Odd’s ratio and attributable risk
(C) Relative risk and attributable risk (D) Only relative risk
(E) Question not attempted
3 PR eTemae d S w87

(A) e frow g (B) o arme qan S S
(C) |mE Siew T4l O SifEH . (D) %aw @oE SEw Ty
(B) eraid v , y wlag ¢

2 Which is NOT a feature of septic tank?
(A) Used for personal and small public use.
(B) Water tight compartment
(C) Used where water supply is adequate. _ ‘ :
(D) Used where public sewage system is adequate. 5
(E) Question not attempted |
ﬁwﬁaf@ﬁﬁﬁaﬂa@tqa@%f@ﬁm%aﬁﬁmwﬂéﬁ%?
(A) wﬁaﬂaammm%mmﬂﬁmw%!
(B) @G BE , ,
(C) qﬁﬁaﬁmﬁ&r@r%ﬁﬁm&’mﬁmw%l
(D) uﬁﬁmﬂmﬁmmwmaﬁéﬁﬁmﬁfamm%l

(B) orgaid 9
3 Complete involution of the uterus to its pre pregnancy stage of delivering the child takes
place by:
(A) 5 weeks ‘ (B) 6 weeks
(C) 7 weeks _, (D) 8 weeks

(E) Question not attempted
m%mnﬁmwaﬁmq&mﬁﬁwﬁ%wﬁm%?

(A) 5 w<T® e | (B) 6 €T®
(C) 7 u<irE (D) 8 g<irE
(B) orgaid us

4  On doing abdominal éxamina_tioﬁ of a pregnant woman, you found uterus to be at 20
weeks but by dates (LMP) it is 24 weeks. What is the most probable reason for such

discrepancy: :
(A) Wrong dates (B) Hydramnios
(C) Multiple pregnancies (D) Gestational hypertension

" (E) Question not attempted
wnﬁaﬁ%%wﬂaa‘faﬁmwmzowgmwm%ﬁr%w@hmm
ﬁ24mmmlwaﬁﬂwaﬁ%a€rww€rm%?

(A) Toa fafer (B) T
(C) ™ g | (D) wftafy S T T
(F) a5 i
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5 Match List I with List II.
List T (Nutrlent)
Vltamm A
Protein
Vitarmin K
N:acm
12 g 11 & wér gif @)
T I (o 7w)
foafe A
TN

a
b
C
d.
T

o TP
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List II (Bio-Chemical Test)
I.  Prothrombin time
II.  Serum retmol
III. Thyroid - blndmg pre—albumm
IV. N-methyl nicotinamide in urine

T 1 (Cr-Tmmte whem)
I oeifs zge’
. e e
1. grEs — i f-ueghe
V. 93 % N—ﬁrm fepifemss

Choose the correct answer from the options given below: .

ﬁ%mwﬁa@ﬁﬁaﬁmaﬁrwaﬁﬁq

(A) a-L, beIV, c-IIL, d-1I
(C)  a-IV, B-II, ¢-IT1, d-I.
(E) Question not attempted / SR 987

6 Match ListI with List II.
 List T'(Health Indicators)
Mortality indicators
Morbidity indicators
.Disablhty rates
Heal!;h care delivery indicators
1% g 11 § a8 gafva gl
T 1 (e W)
PrsmreT =X
e e T e

a

b

C

d.
Bl

o op

(B) a-IL, b-IIL, c—I d-1v
(D) a-III, b-I, c-II d-Iv

List IT (Suliindicator)
I.  Health-Adjusted Life Expectancy
II.  Population - bed ratio
III. Age - Speciﬁé death rates
IV. Incidence and Prevalence

g (a-'q-ﬂiém)
L ‘@rﬁwmmm‘rﬁﬂa ST wenem
II. vgaee — &% (bed) sru@
1. emg-fafire geg a3
IV. Hu qn e

Choose the correct answer from the options given below:

ﬁ%mmﬁwﬂr@raﬁwmwaﬁm

(A) a—IV b IT1, c-II, d-I
(©) a-ll. b—I c-1I1, d-IV
(E) Question not attempted / SR 9o

¥ 21COH-1 ] 3

(B) a-IIL, b-1V, o, d-11
(D) a-L, b-IL, c-IV, d-III
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7 Match List T with List II.

List I List II
a. - Macula lutea . I.  Rods
b.  Photopic vision II. Fovea
c. Scotopic vision !t . I1. Cones
d. Rhodopsin ‘ : IV. Visual Purple
o T o g 11 & wdl gk AR
il | = I
a. Hagen «gfear ' I U=
b, R g 1L i
c. BN 3 1. @™
d. TeiEs : V. fagerm oda

Choose the correct answer from the options given below:

$¥ foo o Rreed F ¥ W8 SUR B0 T died:

(A) a1V, b-III, c-1, d-1I (B) a-IIL, b-1, c-1I, d-IV
(C) a-l, b-MII, c-1, d-IV (D) a-1V, b-1II, c-11I, d-1
(E) Question not attempted / = 97

8  Of the following statement(s), which is/are correct?
1. Incidence is the number of new cases of disease occurring in a defined population
during a specified time. - |
2. Prevalence is the number of old cases existing at a given point of time.
3.  Prevalence depends upon the incidence and duration of illness.
Choose the most appropriate answer from the options given below:

(A) 1 only : (B) 2 only
(C) ‘1 and 2 only _ (D) 1 and 3 only
(E) Question not attempted '
¥ ¥ wE BUT BE G BT ‘
L. Wﬁgﬁamﬁ,wﬁﬁmwﬁwaﬁmﬁm%ﬂqmﬁaﬁmm
HEATT o

2. Ry Ru T mma § O % ReEee G AT ) AT w STl wed ¢ |
3. eaTedT, SOt T AN @ ety 9 PR we B '
I R T Red ¥ ¥ §9Q SUYE IO & TG BT

(A) ®aw 1 ~ "(B) ¥aw 2
(C) waw 1 8} 2 (D) Faw 1 T 3
(B) orgafea 99

9  Under Janani Suraksha Yojna (JSY) assistance given to mother, in low performance
states, in urban area is: '

W@WW(JSY)%W‘H,WWM% qredy 2l o Hiar Y & S ATl qEradl

T ‘t?l'{-ﬁ $. .
(A) T 1050 (B) % 1000
(C) T 1400 (D) % 2000

(E) Question not attempted / ST T
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10 Match List I with List II. : !
List I (Screening) List IT (Technique used)

a Breast cancer I.  Pap test
b.  Cervical cancer II.  Sigmoidoscopy
c. - Cholorectal cancer III. Mammography
~d.  Lung cancer IV. Low dose helical CT
@Iﬁ@llﬁﬂﬁgﬁmﬁﬁql
= 1 () ' g I (S9aF &t W ATl SehI)
a.  ®H HET . L %9 glge
b. wagmw (an) e A II. srmEERsE (Rramskea)
c. HIIEEd HET ' I A
d.  H%2 B HA IV. o9 = & Wiy el @efea) @,

Choose the correct answer from the options given below:

R R T fereed § @ wE I @0 e @i

(A) a-l, b-111, c-1V, d-1I - (B) all b-1V, c-I, d-11I
(€) a1V, b-II, c-II1, d-I (D) a-Il, b-1, c-II, d-IV
(E) Question not attempted / ST W¥

11 Meza Dam has been constructed on:
(A) Parvati River (B) Khari River
(C) Kothari River (D) Mansi River
(E) Question not attempted
e dty fpw T X S T 7

(A) Rl & ‘ (B) @T W
(C) wrardy 7&r _ (D) ==& =y
(E) srgafd gs7 :

12 Identify the statements which are true with respect to peridontal diseases:
1. Presence of a cleft lip
2.  Bleeding or swollen gums
3.  Formation of pockets and loosemng of teeth
4. Oro-dental trauma
Choose the correct answer from the options given below:

(A) 1 and 4 only (B) 2 and 3 only
(C©) 1,2 and 3 only (D) 2, 3 and 4 only
(E) Question not attempted

Ufist=a W7 ¥ wdfim g e gsdTo-

1. & & @®er e

2. G S el g 5 TR

3. ﬁzﬁ(ﬁﬁﬁ&)wwmmﬁwéﬁmtﬁm

4. SATET

e fou o fawedl & @ wE SO @1 www SR

(A) - e 1 3T 4 (B) e 2 oK 3
(C) &aw 1,283 . (D) aw 2, 3 3T 4
(B) orgaia ued '
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13 The best way to represent the following data is :
Out of 100 factory workers - 18 are smokers and 82 are non-smokers.
(A) Line diagram (B) Hlstogram
(C) Pie-chart o (D) Bar chart
(E) Qﬁéétion not attempted
Prfafiae siiws! B Tgd T @ gags fafy ¥
ﬁfé’rﬁwg‘fﬁw&maﬁ 100 wraate ¥ & 18 qgmm%am 82 q;;rmﬂ%‘fm%!

(A) @ o (B) =
(C) ms—aré (D) =m e
(E) cﬂﬁﬁﬁwﬁ ‘

14 For post partum TUCD insertion all are true, except :
(A) Imtgatlve started to promote spacing method.
(B) IUQD insertion is done only at district hospitals.
(C) CuT 380A is inserted.
(D) TS ‘address unmet need of family planning.
(E) Question not attempted s
vt o g A e % forow F, ue & STfrE, mﬂa‘%’f%
(A) W%ﬂraﬁwwﬁ%mmww%
B) \mﬁqﬁ’rs& ﬁ%sﬁéﬁaﬁrmmaﬁ&é’r%mm%t
(C) CuT 380A @1 frige e ST
(D) wﬁanﬁeﬁma%aw?msmﬁwﬁ?aamﬁ%ﬁm%mm%z

(E) cﬂgaﬁauﬁ
W0 3
15 Al of the following are teratogens leading to congenital abnormahtles except one:
(A) Tetanus (B) Radlatlons
© T@bacco consumption (D) Thalldomide

(E) Question not attempted
mﬁa@%mmwﬁm%wmwm%

(A) ﬁ-‘e:w (B) fafeooi
(C) awg w1 A - (D) ¥ehgmss
(E) ol us 4
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16 You went to a wedding, a known relative of yours sudderily collapsed and became
unconscious. What is the first step you would do as a health care professional?

(A) Call for help - Emergency number
(B) Open airway .

(C) Check for responsiveness

(D) Check for breath

(E) Question not attempted

mwmwﬂsﬁm&wmqmﬁﬁaﬂmi&ham%l@wﬁ%
®q H ST YUH B w1 I 7

(A) mwwmmw%ﬁﬁ@ﬁﬁ
(B) w1 o & 7T AT weRd &

(C) wfaframsiierar & sirg &Y

(D) gam® & SiE B

(E) @i uss

17 All are the characteristics of health indicators, except
(A) Validity (B) Reliability
(C) Affordability (D) Feasibility =~
(E) Question not attempted WY :
Prafafas & & ¥ etfufan @i w@wer et B s ¥
(A) <ea (B) frgaraeirrar -
(C) wmear : (D) =aeERT
(B) i wes ' | '

18 Which is NOT true for tetany?
(A) Wild contractions in muscles
(B) Age related disorder with increased bone mass -
(C) Rapid spasms in muscles - - '
(D) Low Ca'™ in body fluid
(E) Question not attempted
frafafaa & @ o @ T=i & v o =& & 7
(A) Wt ¥ o G
(B) oy €<l faerdl & 1Y g€ % AN W THA
(C) Ul & &g g
(D) smlifte 5 & Ca'™ &t Eb"fﬁ

(E) ogaia 9

) 21COH-1 | g -~ [Contd...
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19 Match List I with List II.

List I (Dustbin) List II (Types of Wastes)
a. Yellow Dustbin I.  Scalpels
b. Red Dustbini ! II. Ampoules
c.  White Dustbin III. Expired cytotoxw drugs
d. Blue Dustbin" IV. Catheters
@wﬁ@n%aﬁ’rgﬁﬁmﬁm : -

T 1 (™) T 1 (srafre wm)
a. e e o | I et @ gl
b, W FIEA II. e h
c. UhE FIAM . il Syl (aEeriies) e
d. e g=EA IV. ST 9Tams (%séia“)

Choose the correctianswer from the options given below:
T2 Ry T R d ¥ 98 IO B 9 BT

" (A) a-l, b-l, c-IV, d-III (B) a-IV, b-1I1, c-II, d-’{
(C) a-l, b-I1, c-IE d-1V (D) a-IIl, b-TV, c-I, d= 11
(E) Question not:-éttempted / ST wg

20 All are the comphcatlons of postnatal period, except: i
(A) Puerperal sepsis (B) Thrombophlebms

(C) Secondary haemorrhage (D) Pre eclampsia
(E) Question not, attempted
e 5 9 ¥ gfia @ wEa gy e @ wRnd €
(A) g At B) st
(C) fadras <aamE (D) ot werelaiEr
(E) e usT .
21 Which of the following is the indicator of prevalance of contfaaceptlve practice in a
community? 8 : _ o

(A) Couple Protection Rate (CPR)
(B) Effective Couple Protection Rate (ECPR)
(C) Net Reproduction Rate (NRR)
(D) Gross Reproduction Rate (GRR)
(E) Question not-attempted 54
Prefifee Tgar ¥ Tifus TEi B S B e
(A) g™ guan s (CPR) .
- (B) weragmelt gy, geem 3¢ (ECPR)
(C) fyoe (F2) wsta & (NRR)
(D) . w%a 9o 3¢ (GRR)

(E) _@'@r‘zﬁa S

)~ 21COH-1 | o 8 ' [ Contd...
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22 Which of the following is NOT the cause of dental cavities (tooth decay)?
(A) High intake: of sugars (B) Inadequate exposure to fluoride
(C) Inadequate ‘intake of fatty acids (D) Formation of microbial bio-film (plaque)
(E) Question not attempted oot
foretfefaa & & @ @1 oa) § BRI B B HEo G 7
(A) ST B AfE AT BT AT (B)W@%mmaﬁw

(C) =@ srell T At da (D) gesiida SrEiftees (<) & 71
(E) orgafa usw
23  Where is Rajasthan Hindi Granth Academy located?
(A) Jodhpur : (B) Kota
(C) Jaipur - (D) Alwar

(E) Question not attempted
Tt Y e sreprat wal Rea ¥ 2

(A) wregR o (B) @
(C) wmge ‘ (D) &t
(E) aﬁgﬁﬁauw
24 Lathyrism due to excessive consumption of Khesari dal can_ be prevented by which
method? ¢
(A) Heating - ' (B) Soaking
(C) Filteration : (D) Parboiling

(E) Question net attempted
mwﬁmwwﬁﬁﬁﬁaﬁﬁmaﬁﬁwﬁdﬁﬁﬁﬁﬁm%%mw

T Hehal &7

(A) T (B)

(C) f=gw (D) sigT w=us 5
(B)  argeifed et | )

25 IUD (Intrauterine Contraceptive Device) is ideally inserted: .
(A) Within 10 days of beginning of menstruation &y
(B) After 20 days of menstruation
(C) After 17 days of menstruation
(D) After 15 days of menstruation
(E) Question not attempted
ARG A, (sErRiE wedfea frama) @ s aﬁﬁaﬁmmm%?
(A) =gaE & W 9 10 B & 9 :
(B) =gema @ 20 =i & usErg
(C) =gaa & 17 el % ugarg
(D) =gama & 15 R & ugan
(E) orgafyd usH,

> 21COH-1 ] 9 [ Contd...
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26 Basic laboratory investigations done for pregnant women are all, except :
(A) Blood Grouping and Rh Typing (BG) (B) Liver Function Test (LFD)
(C) Random Blood;&lucose (RBS) (D) VDRL / HIV testing
(E) Question not attempted |
e wfeenell % wETE wEwyTe TlEen § Fe b w8y -

(A) T wgE Tur Rh zifiv (BG) (B) Tgpa ww@ sig (LFT) ;
(C) ¥=9 a 90 (RBS) (D) NG, [ TI.IME.AL S
(B) orgaia 9ed
27 Identify the statements wh1ch are correct with respect to absorption in human digestive
system:

1. In large intestine some minerals, drugs and water are absorbed.

2.  Absorption of certain drugs and alcohol takes place by the mucosa in mouth and
lower side of tongue.

3.  Absorption of water, simple sugars and alcohol takes place in the stomach.

4. Glucose, lactose and glycogen are absorbed by small intestine.

Choose the most appropriate answer from the options given below:

(A) 1, 2 and 3 only : (B) 1 and 3 only

(C) 2,3 and 4 only -~ , (D) 2 and 4 only

(E) Question not attempted

ﬁﬂ%ﬁaaﬁ%w—waaﬁmam%wmeﬁawmﬁ

1. ¥ otid ¥ o @her, SfuREl ot W srEeniia ' B

2. g@ﬁ&é@%ﬁﬁ%%ﬁaﬁmmmeﬁ@ﬁfﬁﬁaﬁﬁmm&ﬁﬂﬁﬁm
Fl

3. wwsﬁvaﬁﬁﬁ%ﬁaﬁrmﬁﬁwm&mﬁﬁm%l

4, TEE, FEERE ST TEISHIST BT AN B iq & wer 8

Fa Ry o fmedl § ¥ G SUGRT ST BN AT BT

(A) Faw 1,23 , (B) ¥aw 1 k3
(C) e 2,3 3T 4 (D) e 2 e 4
(B) oaf@usd '

28 Axial skeleton is comprised of:
(A) Skull and vertebral column
(B) Vertebral column, ribs and sternum
(C) Skull, vertebral column, ribs and sternum
(D) Skull, vertebral column and ribs.
(E) Question not attempted
A b a1 B B
(A) BUW T AHES
(B) Twds, wafwal, sufty
(C) &u, Yods, yafwal ot IRy
(D) U, ¥ods ofiy ugfaar
(B) oraia s

- ») 21COH-1] 10 ' [ Contd...
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29 Xerophthalmia is seen due to:

(A) Congenital anomaly (B) Vitamin A deficiency
(C) Vitamin D deficiency (D) Iodine deficiency
(E) Question not attempted '
STrdwteT feg o it s“lar T ‘
(A) e aTEy (B) fqaftm A &t &+
(C) fyaftm D & &0 (D) SN @ A
(E) orgaia usa _‘

30 “World Homeopathy Day” is celebrated every year on:
(A) 11t April B) 5™ April
(C) 8t April (D) 10% April

(E) Question not atterﬁpted
faga ity few u&ra&mww%?

(A) 11 st (B) 5 ol
(C) 8 aifw (D) 10 ¥
(E) wrgata wed '

31 Identify the strategies adopted by the National Population Stabilization Fund:for population
control. , -

1. Prerna strategy

2.  ASHA scheme

3.  National Helpline-,

4.  Santushti strategy.:

Choose the most appropriate answer from the options given below :
(A) 2,3 and 4 only (B) 1 and 2 only

(C) 3 and 4 only (D) 1, 3 and 4 only
(E) Question not attempted
_memmaﬂmﬁuﬂw%mﬁqmm@ﬂmﬁm
2. ensm A =

3. USg wEEd é’rﬂ

4. G g
ﬁ%ﬁqwﬁmﬁﬁﬁa@mwwwm

(A) &aw 2,3 34 . (B) ¥aw 1 &t 2

(C) e 3 o 4 (D) &aw 1, 3 3 4

(E) orgafta usw

32  Under ESI Act, 1948, state government share of expenditure on medlcal care is :

g.uq.9ms. arfufas, 1948?53131?3 Wé@wwwﬂrmwaﬁwmﬁ

BT &P
A 18 (B) 3/8
(C) 5/8 (D) 7/8

(E) Question not attempted / S ued
> 21COH-1 | 11 | [ Contd...
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33 Which of the following statement should NOT be used while counselling an HIV patient?
(A) Tell about your HIV status to your sexual partner
(B) Do not donate blood.
(C) Do not share needles and syringes.
(D) Its okay to skip your medicines.
(E) Question not attempted
Hlvﬁﬁwsféﬁ%mﬁwﬁﬁﬁﬁaamwwqémm%q?
(A) maﬁaﬁﬂw@raﬁe{qﬁHWw%ﬁWﬁaﬂmaﬁm

(C) =g @t e S = Redl @ e T B
D) Mamggg%ﬁﬁ%ﬁmﬂmﬁa%l

(B) orgaia wed :
34 Identify the statement/s which is/are NOT true for placenta?
1. Placenta is endocrine in nature. _
2. Placenta is formed by the inner cell mass.
3.  Placental hormones help in lactation after parturition.
4. Placenta is connected to the embryo through an umbilical cord.
Choose the most appropriate answer from the options given below:
e (A) 2 only (B) 1 and 3 only
' (C) 2 and 3 only (D) 4 only
(E) Question not attempted
Preffad & @ @ WA BT T (F0) B wed ¥ v @ B
1. U SETE W @y B &
2. ST ST HIRTE §YF ¥ Sl 6
3. wad % SURi U % SN e ¥ aaE a ¥
4. 904U § THIWE ERT TSl 5

(A) waw 2 . (B) %aw 1 ot 3
(C) e 2 3T 3 (D) ®ew 4
(E) orgafia ued
35 Match List I with List II.
List I (Cause) ~- List IT (Occupational Dlsease)

a. Coal dust ' I. Lung cancer
b.  Asbestos ‘ II. Siderosis
c. Iron III. Anthracosis
%Eﬁ go%;tic %fn;r_laes IV. - Bladder cancer

I 11 gHted il

gi’lml T 11 (e wafha )
a. G2l 'a;n | I &% & HE
b. 1. wEsuyE
¢ rr?ra' T/ 1. Qi
d. arorshel THe IV. 9™ &

Choose the correct answer from the options given below:

:ﬁ%ﬁqmﬁaﬁcﬁﬁ@mﬁwzﬁrwaﬁ&m
(A) a-III, b-I, ¢-II, d-IV (B) a-1V, b-I11, c-I, d-II
(C) a-L b-IV, c-III, d-I (D) a-l, b-I1I, ¢-II, d-IV

(E) Question not attempted / ST 99
- 21COH-1] : ' 12 [ Contd...
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36 Match List I with List I

List I (Hormone) List II (Target)
a.  Gonadotrophins I.  Gall bladder
b.  Aldosterone II. Liver cells -
c. Glucagon =~ III. Ovary
% %olecystoé(mm IV. Renal tubules

I qﬁr II 9 @& gafaa aﬁﬁﬂm

g (zm=) T 1 (SR93)
a. j L T o Ol
b. TERERA _ 1. ga Hifdend
c. T@FA T II. sz -
d.  wETEmEhET IV. T & Ffwend

Choose the correct answer from the options given below:

I Ry Ty fmed § ¥ 9 s @ 9 S

(A) a-IV, b-III, c¢-II, d-I (B) a-1, b-II, ¢-IV, d-I1I
(C) a-, b-IV, ¢-II, d-I (D) "a-I1, b-1, c-II1, d-1V
(E) Question not attempted / SRR U :

37 Match List [ with List 11

List I (Essential Fatty acids) List II (Dietary Source)
a Linoleic acid I.  Meat
b Arachidonic acid = - II. Fish oil
C Linolenic acid ITII. Safflower oil
d.  FEicosapentaenoic acid IV. Soyabean oil
'@Iaﬁlﬁrllémﬁgﬁﬁﬁml
T 1 (sTasas T 3w) T 11 (smerd &)
a. faAifee o I. HE
b. Rr(r%ﬁﬁﬁ'cs 37T - I, &S & ad
C. II1. i BT e
d. ansaﬁmﬁévfrqm o] IV. BT AT

Choose the correct answer from the options given below:

e R Ty et ¥ ¥ W SO @ wae A

(A) a-1V, b-I1, ¢-I, d-I11 (B) a-II, b-1V, c-III, d-I
(C) a-IIl, b-I,‘ c-IV, d-11 (D) a-I, b-1I, c_:-III d-Iv
(E) Question not attempted / ST=d U '

38 Arrange the stages of Demographic Cycle in correct sequence.
1. Early expanding 2. Low stationary
3. Declining ; - 4. Late expanding
5.  High stationary
mﬁmwﬁwﬁaﬁﬂﬁwﬁmﬁmaﬁl

1.  urhses georsheadarn 2. = Recar
3. firm@Ee ‘ 4. faefem mﬁﬁam
5. o= Ryt

Choose the correct answer from the options given below:
A fag g Rredt ¥ & W IO @ aw B ,

(A) 5,1,4,2,3 B) 1,3,2,5;4
© 2,5,1,4,3 D) 1,2,5 3,4
(E) Question not attempted / srafia qs

- 21COH-1] 13
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39 Which IUD is approved, for use, for 10 years?
(A) Cu-T 380 A (B) Cu-T 200 ‘
(C) Multi load Cu=250 (D) Multi load Cu-375
(E) Question not attempted

Freffae & & @9 @ e EN, IOHﬁwWW%mﬁlﬁ%?

(A) Cu-T380A (B) Cu-T 200 y
(C) =w@rs Cu- 2§0 (D) A& Cu-375
(B) i@ wsd -,
40 Eating a balanced, healthy diet by a pregnant woman can help preveﬂt which of the
following? { .

1. Too much welght gain
2.  Anaemia and iafections in mother
3. Normal birth of the baby
4.  Gestational diabetes
Choose the correct answer from the options given below :
(A) 2,3 and 4 only (B) 1 and 3 only
(C) 1,2 and 4 only . (D) 2 and 3 only
(E) Question not attempted
| ;ﬁaﬁﬂ%mmwﬁmaﬂtﬁwﬁmwaﬁﬁﬁwﬁﬁmﬁ%ﬁmﬁﬂﬁmﬁmm
?
Tt ISt JeHT
meiady Wit A e ok Hehaor
T B GHN T
Tafafy ¥ ARE
S R T Rl ¥ & W@ ST E T S
(A) %:‘Fﬁf23aﬁ'(4 (B) Faw 1 3T 3
(C)Wl2aﬁt4 (D) e 2 8T 3

(E) orafa usd

41 With respect to the prevalence of hypertension by age and sex, wh1ch 1s/are correct?
1. Age 70 yearsiand over, Sex - M - 56%, F-49% :
2. Age 60-69 years, Sex - M - 43%, F-60%
3. Age 55-59 years, Sex - M - 38%, F-40% ‘
Choose the most appropriate answer from the options given below e
(A) 1 only o~ (B) 2 only - S
(C) 1 and 2 only b (D) 2 and 3 only
(E) Question not attempted .
g AU R % AT SO (ERETT B sl ¥ de @8 HUT B ad
1. amg— 70 a9 ofy aiftre, Rim— gow-56%, AREwE-—49% :
2. &g- 60-69 Ty - geu-43%, HigE-60%
3. amg- 55-39 o) fem- gew-38%, Hiewnd-40% ot
ﬁ%ﬁqwﬁm%%mmmmww O
(A) weaw 1 (B) %aa 2
(C)%aaalaﬂtz (D) %Faw 2 X 3
(B) saf@us || -

) 21COH-1 | 14 “ - [Contd...
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42  Which of the following is NOT related to Coronary Artery Disease?
(A) Atherosclerosis
(B) Deposits of calcium, fat and cholesterol in the vessels supplymg blood to heart
(C) Narrowing of arterial lumen ;
(D) Congestion of lungs
(E) Question not attempted

ﬁw&rﬁgaﬁﬁﬁqmaﬁﬂﬂﬁmﬂv@rwﬁmﬂﬁ%?

(A) PR

(B) %34 &I W& @l SMYRT &I arel anfeeran o e, WWW@WW
- (C) %gwﬁm@wm@m

(D) et

(B) orgafia usT

43  Which is NOT a high risk pregnancy?

(A)" Primigravid woman over 30 years

(B) Anaemia

(C) Twin pregnancy

(D) Previous vaginal delivery

(E) Question not attempted
=t & @ BF @ g Sfawgel Tafewar a8 &7
(A) 30 a9 ¥ orftres oy & Ueell I THEROT HE
%g% WT;WT?:; (TR

NEEI
(D) qd T wEm
(E) srgafia usw

44 First aid, in case of snake bite include all, except:
(A) Reassure patient - as 70% of all snakebites are from Non-venomous. spec1es
(B) Search of local popular snake charmer
(C) Immobilize the limb :
(D) Transport the patient to medical facility-
(E) Question not attempted
quEer % wafte STER & g Fefiles § @ wn of w@ &0
(A) i Br faeem e — w=ife @i wddan ¥ § 70% wdey wwder auf =T T8 29
(B) i wftes TR & Ge
(C) Z9mura ST &I A BT
(D) AW @1 fafeEn giaen S ae wgar

(E) orgafia usw |

45 The “tagline” of “Annapurna Rasoi Yojna” wh1ch is started in Rajasthan is :
(A) Kitchen for all, food for all (B) Clean food, good health
(C) Food for all, respect for all (D) Food for all, good health for all

(E) Question not attempted
TSR F 9@ P T w@@éﬁwwwm%

(A)mﬁmm,ﬁﬁ? (B) @ WivM, 3T @l
(C) =k fau wiem, was o = (D) @ fog wom, g9 g e @
(E) orgafta ew .

) 21COH-1] | _ 15 [ Contd...
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46 World Health Organisation (W.H.O.) has defined adolescent as a person in the age group

of: =% .
(A).15-24 yea:fs : (B) 10-24 years
(C) 10-19 years (D) 12-19 years
(B) f: Question not attempted
Py T TS (SR UELGN) ¥ FeeiT whR B amget % wfe b w9 ¥ wreaf
(A" é’is-z4 a9 (B) 10-24
(C) ©10- 19 a9 (D) 12-19 amE
(E) Gﬂﬂﬁ—dgfﬁ :

| 47 Match List I with List IL.

; . List I (Methods of intervention List IL nye condition)
. V"‘:éi'or eye health care) e
a. r;ijrimary eye care : I, Occul’a.r} irauma
b. Secondary eye care 1. Vitamin A prophylaxis
c. * Tertiary eye care , III. Xerophthalmia
d. Specnﬁc programmes IV. Corneal igrafting
T Lt g 11 @ wd g |

--afm (e e Y % T 10 G i)

a. muﬁﬁﬁ i dwww L o (s 2
b. *fadee = dEaw I Rrefm A Afrad (Tegatne)
c. qdE® TF S@HE 1. greentftraws (STt
d. .l s IV, wifar wmReET

Chd\('):ée the correct answer from the options giveh below:

LlE| ﬁ:q o faeedl o @ W& IO @ 99 it

(A): ~a-IL, b- I, c-1, d-1V ' (B) a-lll, b-1, c-1V, d-11
(C) " a-1V, b-1, c-1IL, d-II (D) a-I, b-III, c-II, d-IV
(E) Ques‘tion not attempted / STAfE W

) 21COH-1] 16 [ Contd...
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48 Preventive measures to decrease the chances of congenital malformation in a population
include: bl
I. Immumzatmn of girls with MMR vaccine
2 Supplementation of Iron and Calcium tablets during pregnancy
3 Control. of maternal diabetes y
4. Taking small amount of alcohol
5. Checking for the family history for haemoglobmopathles
g & 3 vy e feet s § s fagioat o dvree @ w9 foar ST wen § ¢
1. ekl & TH.OH.eR. R (%) ¥ FYARSeE (uﬁrww)
2. TReRATH SO qUT Hieaad B ST &
3. miad g ¥ Agie (SEREN) & e
4.  UchlEia/EE & &9 qen § 9
5 ﬁﬁ?ﬁﬁﬂﬁﬂﬁ(ﬁwﬁﬁﬁﬁaﬁﬂ)%vﬁaﬁ?ﬁﬁwﬁmmt
Choose the correct answer from the options given below: ..
A frg g e § @ @ ST @ ae e
Ay 1, 2, 5 B) 1,3,5
(C) 1,3, 4 5 D) 234
(E) Question not attempted / Srgaita 97

49 Promotive safety measures to avoid acmdents are:
(A) Wear seat belts :
(B) Don’t drink and drive
(C) Periodig:reexamination of driver over 55 years
(D) Imposition of speed limits
(E) Question not attempted
gEeATel § 99 ¥ fMu uided g U™ €
(A) € 7 gee
(B) #fgwr ww & ares FEl gaml
() Ssﬁﬁw%aﬁmmmgﬁﬁrw
(D) Tfq g w1 faifa s

(E) Gﬂﬂﬁ‘ﬁ g

50 With respect. Lo nutritive value of Millets (values per 100 gm) which statement/s is/are
correct? ) ‘
1. Bajra h@s 11.6 g of protein. y
2. Jowar has 72.6 g of carbohydrates. o) : g
3. Ragi has 344 mg of calcium. {
Choose the most appropriate answer from the options given below
(A) 3 only (B) 1, 2 and 3, |
() 1 a.nd 2 only (D) 2 and 3 only :
(E) Question not attempted

ficte (S, sty Tl onfe) & diwes W (A gRe 100 7m) %H@t&raa%qm/@rmﬁﬂé’r%/%?

1. s A 11.6 I 9EE B #1
2. wER ¥.72.6 UM waiense € ¥l
3. Wl ¥ 344 Ry Sfeeem gan B
T T T e § O 999 SUged SOl @1 999 B

(A) ®aw 3. B) 1,283 . ,
(C) Faw 1T 2 ' (D) wHaw 2 8T 3 '
(E) ergafta wsd {ié

- 21COH-1 | . 17 ' [ Contd...
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51 A 2 years old baby is brought to you with complaints of loose stools for 3 days.
On examination baby is restless and irritable. Skin pinch goes back slowly and has
sunken eyes. What will you do?

(A) Diagnose the baby having some dehydration and start ORS.

(B) Refer the patient to higher centre. _

(C) Baby has no dehydration, no treatment required.

(D) Baby has some dehydration, start intravenous fluids.

(E) Question not attempted » _

u% < adTg A ST U A R ¥ Taw q& @ e % | @ b 6 e e
¥ qo Rsfuer wEn T wE @ g oW W O ¥ e ol ¥ awn s € gl ¥
T T B ?

(A) o= & F© Protelieo &1 fam HOT a1 Si.em.ud. (ORS) &1 qiH FHT

(B) Mt &1 seT H= % forg Faffe & ,

(C) == @ Prefeliy =& &, fFd STaR &t smasadar & ¥

(D) w= ¥ Fu Proteie ¥, of:Rrlia axa w&e & 9w B

(B) rgaita 9ed
52 Match List I with List II. :
List I (Disease) List II (Mode of Transmission)
a. Meningococcal meningitis I. Bite of infected culex mosquito .
b.  Viral Hepatitis-A II. Bite of infected flea
c. Lymphatic filariasis II. Faecal-oral route
d. Plague IV. Droplet infection
g [ g2 11 § @t gafoa #iwg) ,
= 1 (Rm) gt 1L (Feror @t i)
a. - Afeea Afeeien I. Toiia Fgead HesT B B
b. arRw RUeriE u II. it Reg @ ®He
c. fTtfem wrafaia Il #a-§ Jaadr 9o
d. i IV. fogaur g9 -

Choose the correct answer from the options given below:

T R T Reedl § ¥ 9 SO &1 99T ST .

(A) a-l, b1V, c-III, d-11 (B) a-1V, b-II1, c-I, d-1I .
(©) a-lV, b-I1I, c-II, d-I (D) a-Il, b-1, c-1V, d-III
(E) Question not attempted / ST T8

53 A 32 weeks pregnant woman complaints of swollen feet, headache and blurred vision. On
examination she has gained 3 kg weight in one week. What is the most probable reason?
(A) Normal pregnancy (B) Gestational diabetes
(C) Pre-eclampsia (D) Twin pregnancy
(E) Question not attempted '
w32 W A i wrver, 3 A geE, wwed qun guen e @ R s §1 s J
% gaE ¥ 3 BT, oS So U S ¥ 9T et g eieer @ ¥ 7

(A) OHE THEET (B) ety wgHs
(C) Wi—ugermtiran (D) &t ™
E) mgﬂﬁﬁ_waq -

~ ») 21COH-1] _ 18 [ Contd...
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54 Select the objectives of antenatal care from the following :
1. Promote, protect and maintain the health of the woman during pregnancy.
2. To ensure at'least twenty visits to gynaecologist by the pregnant women.
3. To detect high'risk pregnancy and give them special attention.
4.  To remove anxiety and fear associated with delivery.
Choose the most appropnate answer from the options given below :
(A) 3 and 4 only " (B) 1 and 2 only
(C) 2,3 and 4 only (D) 1, 3 and 4 only
(E) Questlon not atiempted

1
2. n@ﬁmﬁm@ﬁvﬁmﬁﬁg%wzoﬁﬁwwﬁﬁzgﬁﬁmml
3. oratus Sifgwgel T @ e 9°T 999X faey s aA
4.  vEg ¥ HEfad AT qEn ST B X B -
?ﬁ%%@%ﬁwft@ﬂaﬁdugwcmwwqﬂﬁﬁq

(A) %aw 33X 4 (B)ﬂ?ﬂ?flaﬂ'{Z
(C) »aw 2, 3 34 (D) waw 1, 3 ot 4
(E) agaia usd ' .
‘ 55 Match List I with List II. _ :
‘ List I (Type of cancer) List IT (Screening method)
a. Cervical cancer I. Mammography
i b.  Breast cancer ' II. = Chest X-ray
¢. Lung cancer - III. PSA
| d. Prostate cancer - IV. PAP smear
| gl e g I @ ‘vi?r gafea A ‘
T I (R 7o) = 1 (ara & fafy)
a. i W @ sE] I FEwe
b. WA HWT I Brl & XX
c. THHS B X I11.. froaa.
d. WRT HE o ' IV. 99 &gt

Choose the correct-answer from the options given below:

9 fw o Ryeedl & @ 98 SO &1 99 S

(A) a-1V, b-I, c-III; d-1I : (B) a-lll, b-1I, c-1, d—IV
(C) a-1V, b-l, c-115:d-11I (D) a-IV, b-11, c-II1, d-1
(E) Question not attempted / SATANA 9 '

56 Age related disorder characterised by decreased bone mass and increased chances of
fracture is:
(A) Gout (B) Muscular dystrophy
(C) Osteoporosis: (D) Arthritis _
(E) Question not at{empted o
39 ¥ wefia o W?@WWW@W%@TW#WWW%

(A) wfear = (B) wiwysi e
(C) sifeamrRiaE ; (D) emyfsfen
(E) sgai@wst

) 21COH-1 | o 19 [ Contd...
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57  All of the following are modifiable risk factors of cardiovascular diseases, except:
(A) High blood pressure (B) Genetic factors
(C) Obesity (D) Stress
(E) Question not attempted '
& siffiam org wfl, wifddreregeT (@aaﬁw)ﬁﬁ%vﬁaﬁuvﬁ@nm%l

(A) v @ 9 (B) erEfies wew
(C) = : : (D) @ mE
(B) argaitd usH
58 The structural and functional unit of skeletal muscle is known as:
(A) Sarcomere (B) Micromere.
(C) Macromere ; (D) Nephron

(E) Question not attempted
wheplel YN B WIS O HATEH B3 bedr] B

(A) wr@IET o (B) =EmItER
(C) Fmifrrt . (D) i
(E) orgafa us

59 All are the danger signs during ‘labour’, except :
(A) Prolapse of cord
(B) Excessive bleedmg !
(C) Sluggish pain after rupture of membranes
(D) Systolic blood pressure is over 110 mmHg
(E) = Question not attempted
vag % gy e A g %aﬁ;ﬁmaﬁaﬁ%w%‘l
(A) =9 % om fawge
(B) orafyes tamEE
(©) W%W%wwﬁwﬁm
(D) feeifoed @@ 110 mmHg @ st e

(E) orgafd uge

60 Testing kit, for early detection of pregnancy, ava11able at subcentres is called :
(A) Nischay - (B) Nikshay
(C) M. P. Card p (D) MCP card

(E) Question not attempted | 7
THIERAT BT N TEA B ATl TS foe T IUH=1 § Iueieyr &, 3§ 41 Hed E7

(A) . fyag (B) frasm
(C) uww. dl. ®rE | (D) T 9. 9. &
(B) ogafd s ‘
61 Micronutrient that can reduce the chance of neural tube defect is:
(A) Vitamin K , (B) Vitamin D
- (C) Folic acid o (D) Vitamin B,

(E) Question not attempted
wa@aﬂaﬁﬂwaﬁmaﬂquwm%

(A) femfE K (B) =it D
(C) wiftes emd (D) R B,
(E) ergafya 999
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62 Inan area with fluoride rich water, the defluoridation of water is an example of level

of prevention? 7
(A) Primary ‘ : (B) Secondary
(C) Tertiary (D) Primordial

(E) Question not attempted
,mﬁqﬁmﬁwwmﬁﬁaﬁéﬂﬁwmﬁr ORI I HLAT UBYTT BT B 9

W R

(A) wrafies (B) faimes
(©) o _ (D) wrtfses
(BE) orgaia g

63 Counterfeit medicines are:
1. Medicines which are mislabelled.
2. Medicines which have correct ingredients.
3.  There is no active ingredient in the medicine.
4. There is wrong ingredient in the medicine.
5. The medicine is in sufficient quantity.
Choose the most appropriate answer from the options given below:

(A) 1,2 and 5 : B) 2,3,4and 5

(C) 1,4 and5 (D) 1,3 and 4

; (E) Question not attempted '

! e aftfer war ¥ 7

| 1. ofwfy B 9X @ wee @ el

| 2. oy fred wdl doed B
3. ofwfy ® @is wfew duew & 2
4. ofufy & By TEq dEZH T
5. ofufy dgfaa 7= A 21
%f&qmﬁmﬂﬁ@wﬁwwwwaﬁﬁm
(A) 1,285 (B) 2,3,4aR5
(C) 1,48 5 ' (D) 1,384
(B) ergara 9sd _

64 Rashtriya Bal Swasthya Karyakram (RBSK) aiins at screening of 4 D’s, except:
(A) Defects at birth (B) Deficiencies
(C) Diabetes (D) Developmental delays
(E) Question not attempted , :
T I @ReT HEmd (RBSK) &7 3899 O oMl ¥ & arfaiem Wl wi™
(BBITRT) BT 1 . . \
(A) v % g @ fagfaar/ (B) =g
(C) e (D) forme & feta
(E) ergaiea wev
65 Which of the following is NOT true about Measles?

(A) High secondary rate (B) Only one strain causes infection

(C) Not infectious in pro-dromal stage (D) Infection confers life long immunity
(E) Question not attempted

frefiiad & @ B W G B v § w6 b7

(A) T=a wreAfie €1 (B)mw%ﬁé’rwwmsﬁr%u
(C) TT g& Srewen # HHHUGHI Tl T (D)WWW&TWW%I
(BE) sgai@wsT
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66 A substandard medical product can be identified by all, except:
(A) Examining the packaging for condition, spelling mistakes
(B) Checking the manufacture and expiry dates :
(C) Medicirie should not be discoloured, degraded or should have unusual smell
D) If pharmamst has given, no need to check
(B Questlon not attempted
@ﬁmﬁﬁqﬁ%ﬁfmaﬁﬁwﬁﬁ@ﬁﬁ%mﬁﬁﬁmmﬁmwww%
(A) SR @ orawar qur I A ST @1 e
(B) Seames @ afass faie @ e
(C) iy wgdw, srqafed ar srlianTda Ty el =1 &
(D) aft shufy fahar (wrifaR) & ﬁﬂﬁﬁ?ﬁmﬁaﬁmamﬁ‘é’f%

(B) gt s

67 - Minimum antenatal visits recommended are:
Teaqd fafnes Tmel gamE B e e 9e §
A) 4 - (B) 6
(€ 5 F (D) 3
(E) Question not attempted / aftd W

68 Which staterhients are correct about the sources of health mforma’tton'?
1. Census'is done after every 10 years. -
2. Sample Registration System (SRS) is more reliable for blrth and death rates.
3. Notification of a disease is a valuable source of morbidity data
4. Birth and death registration is compulsory and has to be done; within 30 days of the
event.
5. The main drawback of hosp1ta1 data is that it is only the “tlp of iceberg”.
Choose the correct answer from the options given below: :
A 1,2,3,4,5 (B) 1,2 and 3 only
(C) 1,2, 3%nd 5 only - - (D) 1, 2 and 5 only
(E) Question not attempted
Wwﬁ@ﬁ%ﬁwﬁﬁwﬁﬁaﬁwéamﬁﬁ%?
ufy 10 gst & 9" T @ A S :
giast TefieTor Tomer (SRS) awamaqaﬁ%ﬁrqa&zmﬁwamﬁw%
arceeerar ‘aiiebel & fog fRdl TF1 @ aiftrgE Us wewge | 1
S T Hg, T S TOT e SRt ¥ e 7 ge g % 30 R A ety & @ e
w1 =@yl
5. oTHqdTe & el B eI BH T8 © 6 g8 dhad @@%W"aﬁﬁaaﬁ%%i
dre few Ty fomed W WEr 99T B AU Dol

S P -

(A) 1,2, 34,5 (B) &aw 1, 2 &fX 3
(C) %aw 1,2,3 85 (D) %aw 1,2 e 5
(E) aﬂ?rﬁ‘crusﬂ
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The first foetal movements is felt by the mother during _of gestational period?
(A) 10-12 weeks (B) 12-16 weeks
(C) 16-18 weeks (D) 18-22 weeks

(E) Question not attempted
TG Bl fbe STafy ¥ AT B YU &1 YeEl SOed Heqd 8 @l & 7

(A) 10-12 T B) 12-16 @<E
(C) 16-18 wwmE (D) 18-22 §wie
(E) arafta e

Identify the statements, which are true for “Cancer”.

1. Is a group of diseases characterised by an abnormal growth of cells.

2. The most common cancer diagnosed is breast cancer.

3. The most common cause of death due to cancer is liver cancer.

4.  The global burden of cancer was around 20 million in 2020.
5.  Cancer is the sixth leading cause of death.
Choose the correct answer from the options given below:
(A) 1,2 and 4 only (B) 1,2, 4 and 5 only
(C) 1,3 and 5 only (D) 1, 2, 3 and 4 only
(E) Question not attempted

¥ ¥ 9 Ul Bl ggaAE B o HET’ & fw u
T &1 T & Red s sitrafa gie gl ¥
WWW&WWWWW%TW%E
qPpa B HET TaAlED Jg BN B &
aﬁzozoﬁ%ﬁwmwzoﬁmmmﬁl
TG & Bol &I BT HaT 51
s R o fowedl § § 9€ 99 &1 99 ﬁrﬁﬂq

DR W

(A) &ae 1, 2 3K 4 . (B) Haw 1,2, 45
(C) Haw 1,3 3R 5 (D) %aw 1, 2, 3 3T 4
(B) orgaia ued

Which of the following is involved in the reglilation of respiration?

(A) Respiratory rhythm centre in medulla, pneumotaxic centre in pons, chemosensitive
area adjacent to the rhythm centre and receptors associated with aortic arch and

carotid artery.
(B) Oxygen is the only regulation of respiratory rhythm
(C) Receptors associated with aortic arch and carotid artery.

(D) Chemosensitive area adjacent to the rhythm centre and receptors associated with

aortic arch and carotid artery.
(E) Question not attempted

= & 9 @9 91 sgu9 & fufeme § gftafeg 30

(A) w5 # 9999 @9 HE, UM § =HICRRI® hE, T9 $HE 9 I WA g & i

HETYHAl T19 3T War oo+ q gafaa Tl
(B) 989 @9 & fafrawa ® daw seiie & & "seqel qhier §
(C) wememr O™ oY War vt ¥ gefug aey

(D) wa %= & gHiveri] @rEe Heesie &5 ofk Heramel @ o Wen oo @ wdfta wré

(E) eraia usH
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72  The four main components of IMNCI (Integrated Management of Neonatal and Ch1ldhood
Illness) strategy are:
Improving care management skills of health care staff
Improving health of disabled children
Improving family and community health practmes
Coordination with other departments
Improving overall health system
TH O A (TA ST a9 @ S % Ui wee) wreﬁri%rﬁamsrg@m%
W%@mmﬁrﬁﬁ%%@wwaﬁﬁmﬁgw
fe=att s=af & w@rem § gur
aiart ot wrgiiie e Ot & gar
o forml % @y 9=
T @ Y ¥ gear
Choose the correct. answer from the options given below:
A Ty Ty feedi HR @ SR @ waA B
(A) 1,3,4,5 5 ®B) 1,2, 3
(C) 29 35 45 5 g (D) 15 23 4:
(E) Question not attempted / STANT U5

73  Scatter diagram is drawn to study:

(A) Trend of a variable over a period of time
(B) Frequency of 0ecurrence of events
(C) Mean and median values of given data
(D) Relationship between two given variables
(E) Question not attempted ;
Wt UM fhas Sfemee & fog s wiar ® 7 e
(A) el gmamafy #, el 9 &t ugha
(B) et &% ufed & @1 Sreamar
(C) TT TT ST &7 Hieg quT HIfaenT @ /I
(D) U 7T & = # "y
(BE) i@ wed 4, _

~ 74 All are warning signs of cancer, except :
(A) Change in size’of lump (B) Hoarseness of voice -
(C) A wart or a mole (D) Unexplained weight loss

(E) Question not aftempted -
frfafed & 9, ue % orfafie, ammﬁ%mﬁa‘@ra%ﬁs%a—-rmm%-—

U‘P.‘"P:“%ﬂ&":".‘”f\’r"

(A) Te/@a & B | gfiac (B) ofamT &1 @X@IET o
(C) U dar 91 UH H@/Hd (D) fo=1 ®IXer & 9o "
(E) erafa usd

75 Improvement of human species or race by selective breeding is called as:
(A) Eugenics (B) Ergonomics
(C) Euthanasia (D) Euthenics

(E) Question not attempted
AFG ST & TIAES, YS9 R G BEATam &

(A) goifred (B) st
(C) AT . : (D) g
(E) oo s o
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A one year old baby is brought to you by her mother with complaints of cough and cold.
There is no chest wheezing. Respiratory rate is 38 / min. There is no chest indrawing.

What is your diagnosis?

(A) No pneumonia ' (B) Pneumonia
(C) Severe pneumonia (D) Healthy child **
(E) Questlon not attempted

waﬁnaﬁﬁmwﬁ—wﬁﬁw%maam%aqwaﬁr%laﬁa%mﬁrﬁmz
Hé’r%laamm3891%{%?2%1@??{1?@3‘3?3@@%1%#%@1%?

(A) =geiferar &1 & (B) =it &
(C) wiefre' =g 3 (D) s @ ¥
(E) srafd ued

How many world heritage sites are there in Rajasthan?

- T ® e faea wdieT ww €7

A 7 ' B) 11

S © 9 ' (D) 12

(E) QueSﬁon not attempted / 3TN 997

Which of the following can be used as post coital contraceptlon’?

1. Intrauterine device insertion within 5 days.
2. OCP within 72 Hrs.
3. foeprlstone 10 mg within 72 Hrs.

~ Choose the most appropriat answer from the options given below

A 1 and 2 only (B) 2and 3 only
(C) 1and3 only (D) 1,2and3
(E) Questxon not attempted

ﬁﬁﬁﬁ%&wmﬂﬁgﬁ%qswmﬁ?rﬁ%%ﬁwﬁﬁsmmw%?

1. 5 fAl & ofey oms g 8. Fasm

2. 72 €9 H i

3. 72 €l ¥ AgwireE 10 mg & dad

A e R e § § 999 SUgE 39T @1 99 Siiig

(A) waal w2 . (B) e 2 37X 3

(C) w1 8T 3 (D) 1,28R3
(E) ergafia we

Which of :t-fhe following is the injectable contraceptive?

(A) Chhaya . (B) ANTRA
(C) DMPA (D) NET-EN

(E) Queéstion not attempted
et & & ﬂ%r 1 etadE TS § 7

(A) B/ .- , (B) q.qa.é‘r.m.q_.; :

(C) Hmadu. (D) A4
(B) orgaita ued '
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80 Identify the statements which are true with respect to the function of a nephron.
1. Approximately 1500 ml - 1600 ml of blood is filtered by the kidneys per minute.
2. Proximal Convoluted Tubule absorbs nearly 70-80 percent of electrolytes and water.
3. Nearly all the filtered essential nutrients are absorbed by the Distal Convoluted
Tubule.
4.  Collecting ducts allow passage of small amounts of urea into medullary 1nterst1t1um
to keep up osmolarity.
Choose the correct answer from the options given below:
(A) 1and3 (B) 2,3 and 4
(C) 1,2 and 3 (D) 2 and 4
(E) Question not attempted
frefiflaa & @ S wye T % B & ddy § @ ¥, 9= vswi)
goB T @ 1500 ml - 1600 ml o 9y fime Fredfaa (Rewex) &rar %1
TR gafea Afder T 70-80 Ui swdgEe 8k S| @1 STEsiuy Sl §1
T Hafwd Afesr g wrw welt Freifed sifvemd 9w el B SasieT g $
ATENATE (ITETOET) B S @Y & g @urel Jfwesd gfar & @St 9 @, A5l
Fefefirm # i@ @ & argafa @ 21
I g o et § 9 9 IO @1 99 i
(A) 183 S ®) 2 aﬁ14
(C) 1,283 D) 2
(E) ergafia ued

81 In respect of Hypertension, which statement is/are correct?
1. Non-modifiable risk factors are - age, sex, genetic factors, ethnicity.
2. Modifiable risk factors are - obesity, salt intake, saturated fat, dietary fibre, stress.
3. Hypertension is an iceberg disease.
Choose the most appropriate answer from the options given below:
(A) 1 only _ (B) 1 and 2 only
(C) 1,2 and 3 (D) 2 only
(E) Question not attempted ‘
SoT TaaanT & "aw  Prefafea § @ @@ @ 3R 7
1. wifew % swftaet &rw ¥ — omg, R, engait s, ST
2. Sifte & aftaed s & — AT, HE i i {6 Oad, Ggw 99T, SETd 19T, a9
3. =3 @AM U6 SR U7 i
I feg T foeredl ¥ @ 99 IUgH SO &1 999 g

B

(A) e 1 (B) Faw 1 ofx 2
(©) 1,283 . (D) e 2
(B) orana usd

82 Which statement is correct with respect to Pellagra?
(A) It occurs due to pyridoxine deficiency.(B) Occurs with diet chiefly on maize.
(C) Night blindness is important feature. (D) Causes hlgh risk of heart attack.
(E) Question not attempted

Yo o Gefid "el wusw dm ar 7

(A) T uEfEfmT S e sruearsl  (B) Jo7 &9 9, Hen ST e ¥ sar §1
(C) T us W@yl @ ) (D) zEamma & eifts SifEd @1 B T ¥
(B) argai wew '
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Which of the following is/are true about dengue fever?
1. Most common Arboviral infection.

2. Incidences of dengue are decreasing in India in the last 2-3 decades

3. Can be both epidemic and endemic.
4.  Can survive in ambient temperature.

Choose the most appropriate answer from the optlons given below

(A) 1only - (B) 1 and 2 only
(C) 1,3 and 4 only (D) 2, 3 and 4 only
(B) Question‘not attempted

] vt % fawg F Frefaiea & @ s @b 2R

2. fTrsw 2-3 39 ¥ WA ¥ S9! U@ %9 & &l
3. HWEMTQ qur wnties T, A0 € w4 H OB gehar o)
4. 7% uf@sh ammm 9T Sifaa Ear §)

o R T R § ¥ wed sugE SO & 9E it

1; ﬁ@ﬁhﬁﬁmwﬁwaﬁwwﬁww (erraTans ) Heha ¥

(A) Faw 1 (B) haw 1 &iT 2
(C) e 1, 3@14 (D) %aw 2, 3 3T 4
(B) ma%rﬁagﬁ

GET IT ON
Google Play

Estimate the number of pregnancies of a subcentre in a village w1th a blrth rate of 25 per

1000. Population of the subcentre is 5000.

W%maﬁwﬁmwmﬁaﬂmaﬁmwmwazsw&r1000%13@5@'

@ sEEn 5000 ¥

(A) 125 .. (B) 138
C) 69 . (D) 100
(E) Question not attempted / ST W9

Preventive measures to reduce the chance of cancer, include:
Regular physical activity

Avoidance of tobacco smoking -

Diet including fresh fruits and vegetables

Regular health check ups

Immunization against HPV

fraf ardife Rear

‘-"PP’N!"‘%"S—"“P!"!“

T G & fag ufwew (sRggee)

Choose the correct answer from the options given below:
e Ry g famedt § F wd SO @ wEe SR

(A) 1,3,4- B) 1,2,4,5
©) 1, 2, 3;54, 5 D) 3,4,5
(E) Question not attempted / Sraf{a 99

} 21COH-1] 27
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86 Select the true statements about yellow fever.

' 1. Transmitted by Aedes.
2. Incubation period is 10-14 days.
3. It is caused by flavivirus.
4. Incidence is increased by humidity.
Choose the most appropriate answer from the options given below:
(A) 1 and 2 only (B) 3 and 4 only
(C) 1,2 and 3 only (D) 1, 3 and 4 only
(E) Questlon not attempted ’
ﬁaﬁtﬁaﬁwﬁﬁﬁrﬁﬁwmﬁmﬁm
1. gEiw &} Haia e 5l

GoEE ety 10-14 5 gt ¥

2.
3. U8 U TOEEd ST e gl
4

. oTder g0 ga ® gRg el ¥
T g g foeedl ¥ ¥ W99 IUgE STX @1 99T @i
(A) Haw 13X 2 (B) ®%aw 3 3 4
(C) ¥aw 1,2 it 3 (D) %aw 1, 3 &% 4
(B)  orgaiyd usd
87 In Intrauterine device, Cu-T 380 A, ‘A’ stands for:
(A) - Active (B) Antigen
(C) Ag-Silver (D) Antibody

(E) Question not attempted
Cu-T 380 A, sia:wisel gfera & A’ w1 o1f & —

(A) whea B) T
(C) Ag-faex : - (D) wiereh (TereEh)
(BE) oraia 9sd ' : ,

88 In a village with populatmn of 5000, 50 people get affected by a dISease and 10 of the
affected died. What is case fatality rate?
SOOOWWWWﬁSO@Fﬁ@Iaﬁ%“&WéW%WWQW 10 @FI a5t
Tg € T &1 AME & Rug ¥ g den o wmmod e
(A) 10% B) 2%

(©) 0.5% ‘ (D) 20%
(E) Ques’uon not attempted / ST 99

89 Milk transmits all, except:

(A) Q fever : (B) Typhoid fever
(C) Brucellosis (D) Endemic typhus
(E) Question not attempted

gy, Prafefed & % ofifad o= @ & SeX0 B §
(A) Qs (B) <igwhigs Sel

(©) wfaentag (D) it TRwd

(B) ergara usv
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P90 Standard1zat1on of food by the Directorate of Marketmg and Inspectlon Govt. of India
f is: , .
(A) Codex Alimentarius ' (B) PFA standards

(C) The Agmark standards (D) Bureau of Indian Standards.

(E) Question not attempted

YR SR & faoe g frieer Frywa g 99 61 aede e |/ s ?

(A) »rew ufraeeiaa (B) 9.u%.q. w&H
(C) TS 9He (D) ¥d™ wWe .
(B) argaia wed . .

91 FEssential drug list include all, except:
(A) Medicines that satisfy priority health needs of a population
(B) Medicines used in national health programmes
(C) Medicines for rare diseases
(D) Medicines used for emerging and re- emergmg infections
(E) Question not attempted
amaygsw Aty g § fafafaa o 9, e & aifdfem, of wfim
(A) &@mﬁmsﬁﬁs@rwﬁzﬁrmwmsmaﬁaﬁgﬂm%
(B) T w@men wEwmE ¥ ygw it
(C) g i g sirarri
(D) SR-9R 89 I H@HHO &g a?r'sr&m
(B) srgai wew
92 All of the following statements about Centchroman are true, except -
(A) Non steroidal, non-hormonal pill
(B) Marketed under the name of Saheli
(C) Developed by Central Drug Research Institute, Lucknow
(D) Available in the market @ ¥ 5 per tablet
(E) Question not attempted
T (Centchroman) & s1X & FreifvRad & & % & e 99 a@ & —
(A) WROedN, sMmeN Miedl §)
(B) ‘@gwr M ¥ g ¥ e ¥
(C) =g ofiufy SrgEa™ He, ammﬁﬁaﬁnéaﬁl
(D) = ® T 5 Ui el &l ¢ 9¥ IUae ¥ |
(E) ergafa ued
93 Which of the following primordial prevention strategies is NOT for CHD?
(A) Take healthy diet including macronutrients and micronutrients
(B) Regular physical activity
(C) Prevention of tobacco use
(D) Management of hypertension and diabetes
(E) Question not attempted
CHD % fuu frafafaa & & & €@ U™ & Hifwe sreifg 78 & 7
(A) =g omeR & ed ga e a@ qUT ged drathde SMiME &
(B) Tt ardifits @t
(C) durg & Su=r & e ‘
(D) = TEEm™ aun q“gﬁg ECER

(E) ar;ﬁrﬁa R
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94 Which statement/s is/are correct for Prudent Diet as per WHO?
1. Dietary fat limited to 15-30% of total daily intake.
2. Salt intake should be reduced, to an average of not more than Sg per day.
3. Protein should account for approximately 10-15% of daily intake.
Choose the most appropriate answer from the options given below:
(A) 1,2 and 3 : (B) 1 and 2 only -
(C) 2 and 3 only © (D) 2 only -
(E) Question not attempted &
fasq @ ged (WHO) % orgamrt Reqel ot & e wdt @ o 38 7
1. omertw @, gRifE e 9 A die ¥ 15-30% e diftE
2 e RV ST @Y HEET Oy o whifde @1 ofed Sg @ aftes 7 w1
3. wiRe wEw BT S A HeE @ e 10-15% SR g |l
9 R Ty freed ¥ ¥ 99 SUgE IO B TE BT

(A) 1,283 _ (B) ®aw 1 afx 2
(C) e 2 i 3 (D) Faw 2
(E) ergand ued '

95 Which of the following is NOT the characteristic of Malignant, Hypertension?
(A) Systolic BP > 180 mmHg and Diastolic > 110 mmHg &
(B) Multi organ damage
(C) Good response to therapy
(D) Onset of hypertension in young or older than 50 yrs
(E) Question not attempted _
Prefifiad & @ B G goA e (AR BEIISYH) B AR @ § 7
(A) wEHE ToaE >180 mmHg oft emftee > 110 mgHg
(B) sgaria afa o
(C) fuper & wfy srast wifsar _ .
(D) Far &t 50 o ¥ afrp oy % SRR § SHraRiaTS Bl YRA B
(B) ergaid us yrd
96 Under Vande Mataram Scheme, the enrolled doctor can be provided with the following
item by the respective district medical officer :
(A) Iron and Folic acid (B) BP apparatus 7\
(C) Weighing machine (D) Glucometer
(E) -Question not attempted

Y S G & ¢ , _ e}
(A) EE a9 Bilws RIS (B) #.9I. Sustw
(C) =9 e @t Al (D) THRFET =
(E) organd us

97 Vital layer in slow - sand filter is of :
(A) Alum - Hoe (B) Sand bed a4
(C) Schmutzdecke : _ (D) Under drainagg

(E) Question not attempted
o,y (filter) #1 yg@ wae fewmt g7

S Tl 3 B s
- ¢ HH ITAE,
(E) organd ued :

») 21COH-1 | 30 : . [Contd...


https://applink.adda247.com/d/XhqWf9lSap

Adda247

98 Match the following for STI / RTI Kits:

List 1 ' List IT
a. Kitl I.  White for Genital ulcer
b. Kit2 : II. Yellow for lower abdominal pain
c. Kit3 III. Green for vaginitis
d Kitb6 IV. Gray for urethral discharge
STI / RTI f5e &t gafaa &
@1 | @
a. Tee-1 | I o % e & g g%
b. fRe-2 . e selm & & fog dren
c. Wre-3 1. Afeier & fag &

d. fHe-6 IV. wswﬁngﬁﬁm%%ﬁmaﬁff
Choose the correct answer from the options given below:

9 faw g fyeedl § ¥ W@ I @ 999 BT

(A) a-I, b-1I, c-I1I, d-IV (B) a-Il, b-IIL, c-I, d-IV

(C) a-IV, b-IIl, c-I, d-1I (D) a-1V, b-1, ¢-II, d-1II

(E) Question not attempted / Srafa 9T

99 Which of the following is NOT the purpose of conducting Mahila Swasthya Sangh
meetings every week by Anganwadi workers in a village? '
(A) Enhance interpersonal communication
(B) Discuss breastfeeding
(C) Discuss general household problems
(D) Discuss anaemia ;
(E) Question not attempted
wﬁwﬁrmw@mﬁﬁﬁaﬁmqﬁmwmﬁwaﬁaﬁmwﬁ%?
(A) urteafies Eower semr
(B) WM & fawa # @al &
(C) | TXe RSl 9 =@l AT
(D) Eawddr 9T Tl B

(B) argafd us

100 Warning signals of poor mental health are, all except
- (A) Always worrying

(B) Afraid without real cause
(C) Chronic pain in abdomen
(D) Continually dislike to be in company of people
(E) Question not attempted :
HHAR AFS @R B GEge 39 a1 qe % atfafaa o wvr ¥
(A) wig fufmm @ o
(B) o1 fred arafee wRwr % ST
(C)" ¥= % g (chronic) 3
D) @amaﬁaﬁﬂaﬁaﬁwm
(B) orgafita usw
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e v @ @ gt § — g afy o el A, when wfer Tt wa G 4 gF whend o |
g @ T AT daw w A, qherel @ g gy 3 o 7@ & | fe q I wE
# 5o Fl F oA T T F, @ﬁwnﬁ#wnﬁ#ww#ﬂammﬂgﬁmmm
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